2009 Radicals Theta Topic Test

Solutions:

1. X/24x% +/48X —\/54%° = 2x2/6X + 4+/3x —3x2/6X = 4x+/3x — x2/6X

10.

11.
12.
13.

14.

(5)(2)*(3)* = (30)” = /30

J2-3 J2-1 5-42
V241 V2-1 =5-42

x* —16 = (x— 24/2)(x*+2x3/2 + 43/4)
Na=b
-(a-\b)

oxt + ox* - Jox4y? +gx® - 3x2y% +1
y* y Yy

1=>-1=-1=+a=+b

s 3 2 3 6

Y % 5
()

479 36 5 5

4
81x* ox X 2X 1x
3—+_:9 3

8+24vx(2+vx)=19(2+x) = 8+48Jx +24x=38+19Jx

29\/§ =30-24x = 881x=900-1440¢+576¢* = 900-2321x +57 6¢°

_4/ 225 225 _4

* A’ 6477 J647 A
X
3 4 2
FA
[y “Vy* Ty
X3

+.5=3.02x-.1= +.125=.02x-.1= x=-1.250r11.25

f(x - 1) = /x :g(&):m:g(\/E):\/ﬁ:((x%)%)%:W

\/x+1=2—\/§:>x+1:4—4\/§+x:>3:4\/§:>x=%6

f(20736% )= (2°-3*)* = 2.3% = 243

10.b
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16. x(zx%)+x2+x(3x):>2x2\/§+4x2 = ox2(Jx +2)
V2 -43-1 . J2-B3+1 jzﬁ—zﬁjﬁ—ﬁ.2+\/€jzﬁ—2\/§+\/ﬁ—@
. (V2-3) -1 (V2-3)2 -1 = 4-2J6 2-J6 2+6 ~2
-2 2
—:>_
~2 2
18. x:\/§i 2'5+72:>\/§i_25\/§:>3\/§0r—2\/§
y+5=56-,8-y=>y+5=25-10,/8-y+8—-y=2y-28=-10,8-y =
19. y-14=-5/8-y = y*-28y+196 =200 - 25y =y*-3y-4=0=y=4o0r-1
Sum=3
20. (2°c?d*)* o(3°c%d®)* = 2d(c*d *) e 3cd(cd*) = 6¢d? (¢/*d *) = 6¢°d *¥/cd®
21. I,+r,=4andr,-r, =-50 = x* -4x-50=0
oo (2\/§+x/§—3)(\/§—2 2+1):(6—4\/6+2\/§+\/€—4+\/5—3\/§+6\/5—3)
—1+72-3-3V6
23. Jx+1 = \/x—3 +1.:>x+1=x—3+2\/x—3+1:>3:2\/x—3:%+3=x
x=2%:>y=2.5
o J7+2)y —7-2y =2=7+2y-2/49 -4y +7-2/y =4 =10 = 2,/49 — 4y

o5 \/x+2\/§—\/x—2\/§ 2= X+ 2y -2 x4y +x-2\J]y =4 = 2x -4 =2\/x* -4y

26.

27.

5=,49-4y =25=49-4y=y=6

X* —4x+4=x*-4y=y=x-1=(6,5)

182=v, |°0 182 42y oy 212
4.9 3.6

s:m\/?jg)zl—6:>1(:25o
100 JK

15.

16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

26.

27,
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(2437 Ja+by7)=-107 —13J7 = 2a+ 21b + /7 (3a + 2b) =107 —13/7 =
2a+21lb=-107 and3a+2b=-13 = (-1,-5) = -6

28.

+
29. x=——————:»9—min2:@—4&¢o¢4amwgzc¢—}Q9Q9£:c=}£

30. x:\/10+\/10+\/10+... = x° :10+x:x:1+;/H:>b:41

Tie-Breakers:

J13- 243 31+ 123 +y12-6v3 = |(1-243F ~ (2 +343F +|l3-V3F =
1-2 3—2—3\/§+3—\/§:>2—6\/§

(2)2 —3J2(2)+c=0=c=—4+62
3, y=2Jx+3-2

28. a

Omit

30.d



